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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu4 standard lightnessl*

Ya=Yw - nc=100,

I* L ABINDU4 =IN(A 17+ A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L agaNDua =IN(A 15+A2 ) (A2Aon)  (X=YIYL)
1 (3.6)=146 ) ,(18)=332,* y(90)=517

log[i* /I* ]=0, m,=0,33

LABJINDu4
tristimulus value difference
Yo=Y - nc=100,
I* L ABINDU4 =IN(A 10+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yyo)
I* L ABINDU4=IN(A 17+ A2) (A2 Aon) - (X=YTYy)
dY:Aon(A1n+A2nY):A0n(A1n+A2UX) X=YIYL|
Aon 06515, Aona=1.0, see CIE 230:2019
<
4
I* =332 dY,=0,16 dY,/Y,=0,0092 -
4
1
1
! application
1 range
Pt
xN=0,2 Xw=5

log AY/Y) LABJINDu4
_ tristimulus value sensitivity
SEE) Yoc=Yw - nc=100
I* L ABINDU4 =IN(A 17+ A2nY)/(A2nAon)  (Ynd/100<Y<=Yno)
I* L ABINDU4=IN(A 17+ A2) (Ao Aon) - (X=YTYy)
AY/Y=Agn(A1r+Aa)Y=Aon(ArntAsX)Y

— %)plication
= —range

log (Y/AY) LABJINDu4
_ tristimulus value contrast
SN Yoc=Yw  nc=100
I* L ABINDU4 =IN(A 17+ AR Y)/(A2nAon)  (Ynd/100<Y<=Yno)
I* L ABINDu4=IN(A 17+ A2) (A2 Aon)  (X=YTYy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

I* ;=332 dY,=0,16 Y,/dY,=107
log(Y/dY)=2,03 m=002 =~ ~

LABJNDu4 relative standard lightnessl*/I*
I Yoc=Yw - nc=100,

11 ABINDU4=IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yo)
1* | ABaNDua =IN(A 10 +A2 )/ (A2iA0n)  (X=Y1Yy)
1 (3,6)=146 * ,(18)=332 1% y(90)=517

log(AY/AY,) LABJINDu4 relative
AYIAY tristimulus value difference
i YocmYw - nc=100,

1L ABINDU4 =IN(A 17+A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)

1L ABINDU4 =IN(A 17+ A2) (A2 Aon) - (X=YTYL)
dY/dY =(A1+A X (A1 +AY)

’
4

1
1 application
1 range
%=1

Xw=5

CEH40-4A
log [(AY/Y) | (AYIY),] LABJINDu4 relative
tistimulus value sensitivity

SISu=@YMIAYN) v =y, =100

nc
1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
11 ABINDU4 =IN(A 10 +A2) (A2 Aon)  (X=YIYL)
(dY/YY(AYIY)=[(A 1+ A ) XJI(A 17+A20)

Togl(A/YY(@YIVLI=0, my=-0,0 -
I* =332, d¥,=0,16 dY,/Y,=0,0092 ra;npélecatm
I)“:l
Xn=0,2 Xw=5

CEH40-6A
log [(Y/AY) I (YIAY),] LABJINDu4 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

nc

1L ABINDU4 =IN(A 17+A2RY)/(ArAon)  (Ynd/100<Y<=Yoo)
11 ABINDU4 =IN(A 10 +A2) (A2 Aon)  (X=YTYL)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)

LABJNDu4 standard lightnessL*

YoeL*w -~ nc=100

L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/L00<Y<=Y,c)
L* 1 aBanDua=IN(A 10+ A2 X) (Ao Aon) - (X=YTY)
L* (3,6)=146L* ,(18)=332,L* ,,(90)=517

log[L*/L* ;]=0, m,=0,33

CEH4L-1A
log(AY) LABINDu4
AY tristimulus value difference
YomL*yy - =100,
L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Ync/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 )/ (A2 Aon)  (X=YTYy)
dv:AOn(A1n+A2nY)=A0n(A1n+A2uX) X:YIYU
Aon 06515, Aona=1.0, see CIE 230:2019
,
o

L* =332, dY,=0,16 dY,/Y,=0,0092 ~”/

application
range

Sl
XN=0,2 Xw=5

CEH41-3A

log (AY/Y) LABJINDu4

tristimulus value sensitivi
S Yol W =100 Y

nc’

L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1nt A2 X)/(A2iAon)  (x=YTYy)
AYIY=Por(A it AgY)Y=Ag (A it AgX)/Y

+ — — application
~range

1
1%,=1
XN=0,2 Xw=5

CEH41-5A

log (Y/AY) LABJINDu4

- tristimulus value contrast
SN Yoe=L*w -~ nc=100
L*Laganpua=IN(A1n+A2nY)/(A2nA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A 1t A2 X)/(A2iAon)  (X=YTYY)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

L* ;=332 dY,=0,16 Y,/dY,=107

log(Y/dY)=2,03 m=0L2 =~~~
application

CEH41-7A

CEH41-7N

TUB-test chart CEH4; LABINDuU4*(Y) & L*(Y), Ync=(Y&L*) wne x=0,43
Absolute and relative lightness, sensitivity and contragt=2A5, A1n=0,007, A,=0,0058, A,=0,10

L*/L* LABJINDu4 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* L aganDua=IN(A 1n+A2Y)(A2rAon) - (Yad 100<Y<=Y,o)
L* aBaNDua=IN(A 1+ A2 X)/(AoAgn)  (X=Y/Yy)
L* (3,6)=146L* ,(18)=332,L* /(90)=517

CEH41-2A

log(AY/AY,) LABJINDu4 relative

tristimulus value difference
AYIAY, Ve irl
L*LagaNDua=IN(A1n+A2Y)(A2rAn) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 10t A2X)(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)

p
//
16 dY,/Y,=0,0092

Y4
4
A

application
nge

%=1
XNn=0,2 Xw=5

CEH41-4A
log [(AY/Y) | (AYIY),] LABJINDu4 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100,

nc’
L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L aganpua=IN(A 1ntA2 ) (A2yAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)

log[(dY/Y(dY/Y)]=0, m=-0,06 1 o
L* =332, dY,=0,16 dY/Y,,=0,0093} ?g’npg','ga""”
%=1
XNn=0,2 Xw=5

CEH41-6A

log [(Y/AY) / (YIAY),]
Co/Cry=(YIA)(YIDY),

LABJNDu4 relative

tistimulus value contrast

Ync=L* w nc=100.,
L*LaganDua=IN(A1n+A2Y)(A2rAon) (Yo 100<Y<=Yyo)
L* L aganDua=IN(A 10+ A2 ) (A2yAon) - (X=YTYy)
(YIYY(YIY) =X (A+A X)) (A 15+A2y)

CEH41-8A
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